2 HDHBE<ADIE> No.l1
1. ROFHHE%Z LRI W,
(1) z=—-4y=-20rE ROADHEERDIX
Wy
— (z+3y) — 3(z + 2y)

m

(2) 2=-3,y=10r %, ROADEZRDLZZ W,
— 4(3z + 2y) — 3(bx — 5y)

%

B) z=5y=—-4Dr %, ROADEERDEI W,
323X zy + dx

5.

4) z=-5y=20t %, ROXDEZRDZEI W,
— (27 —2y) — 2(z — 1y)

5.

(5) z=2,y=—-4Dr %, ROADEZRDLZZ W,
22X zy + 3z

6) r=5y=—-4DE XORXDEZRDL IV,
33X zy + x

¥

(7) z2=-5,y=4Dr %, ROADEZRDLZI W,
— 3(4x — 5y) + 2(bx + 5y)

5.

8) z=2,y=4Dt %, ROKXDEZRDILEI W,
— 423X xy + (=5x)

‘.

9) z=4y=—-40r %, ROADEZRDLEI W,
—4(2x — 4y) + 5(bx — 1y)

5.

(10) z=5,y=-3D& EF, ROKXDEZRDZ I,
—2(2z + 4y) + 5(5z — 3y)

¥




H2 HOHE<ADE> No.2
1. ROFEE LRI,

(1) 2=5,y=30L &, ROXDEZRKDILI W,
—3(5z + 5y) — 3(z + 5y)

5.

(2) z=—-4,y=20t %, ROKXDEZRDZEI W,
— 43X zy + (—z)

5.

(B) x=-5y=-20x ROAXDEERDIK X
W,
— (4o + 4y) — 3(2x — 4y)

‘.

4) 2=-5y=40Dr %, ROADEZRDLZZ W,
— 3(4x — 5y) + 2(bx + 5y)

5.

(B5) x=-5y=—-4DrE, ROADHEERDIX
W,
3(5x — 2y) + 4(5x — 1y)

6) r=5y=-5DE ROKXDEZRDL IV,
5(x+y) — (3z + 5y)

24

=.

(7)) 2=3,y=50Dr &, ROADEZRKDL I\,
—3(xz — by) + 2(3z + 2y)

5.

8) z=-3,y=1D Z, ROKXDEZRDZIW,
—4(3z + 2y) — 3(bz — 5y)

‘.

9) z=-5y=10Dr %, ROADEZRDLZI W,
— ¥ X gy + (—2)

5.

(10) z=-4,y=10 %, XROKXDEZRDZ I,
—2(2z — 4y) + 3(5z — by)

¥




F2 HXDOHE<ADE> No.3
1. ROFEE LRI,

(D) z=-5y=20r %, ROADEZRDLRZ W,
—4(5z — 2y) — (z + 2y)

b2y

= .

(2) z=2,y=50r %, ROKXDEZEKDLIW,
— 323X 2y + (—27)

5.

B)x=-4y=-20E ROAXDEERDI X
W,
X zy =+ bz

‘.

4 z=-3y=-10E, ROXDHEE KD X
W,
2(4x — 5y) + 2(5z + 1y)

b2s

= .

(B) z=4y=10r %, ROADEZRKDZ IV,
5(2x — 5y) + 5(4x — 5y)

6) 1=-5y=20t %, XOKXDEZRDL IV,
—2(2x —y) + 4(5x + 4y)

5.

(M z=-5y=-20rE, ROXDHEE KD X
W,
323X zy + bz

‘.

&) z=-5,y=30Dr %, ROADEZRDLEI W,
—32® X xy + (—4x)

5.

(9) z=-5y=—-4DrE, ROADHEERDIX
W,
2(bx — by) — 5(4x — 1y)

5.

(10) 2= -5,y=-20Dr &, ROARDMEERDI X
W,
33z — 4y) +4(2z — 1y)

¥




F2 HXOHE<ADE> Noad
1. ROFEE LRI,

(D) z2=-5y=40r %, ROADEZRDLZI W,
— 3(4z — 5y) + 2(bz + 5y)

5.

(2) 2=-2,y=40r %, ROADEZRDLRI W,
—5(4z — 3y) + (x — 3y)

%.
B) z=4y=5Dr %, ROADEZRKDZ IV,
5z X xy + x
%.

1) z=—-4,y=4Dt %, ROKXDEZRDZE W,
523X xy + 4z

5.

(B) z=-3,y=2D Z, ROKXDEZRKRDZIW,
(3z + 3y) + 2(2x + 1y)

6) r=5y=-3DE, XOKXDEZRDL IV,
— 223X zy + 3z

.
() 2=5,y=5DL &, ROXDEZKDILI W,
203X xy +
%.
®8) x=-4y=-20E ROADEERDI X
W,
22X zy =+ bz
%.

(9 z=-5y=-40rE, ROXDE%E KD X
W,
3(2z — 4y) — 2(4x + 4y)

5.

(10) z=2,y=5Dt ZF, RORDEZKDILEI W,
X zy + (—x)

¥




H2 HXOHE<ADE> No.5
1. ROFEE LRI,

(D) z2=-4,y=40r %, ROADEZRDLZI W,
523X xy + 4z

5.

(2) 2=-5y=20r %, ROADEZRDLRI W,
—4(5x — 2y) — (x + 2y)

&,

(B) r=-4y=20t % XORXDEZRDZIW,
—2(2z + 3y) + 3(3z — 5y)

5.

4) z=-5y=1D %, ROXDEZRDZE W,
— X a2y + (—x)

5.

(B) z=4y=20r % ROADEZRKDLIW,
5(x + by) — 5(4x — by)

6) 1=-5y=5D& =, XOKXDEZRDZI W,
22z —y) + 3(3x — 3y)

m

(7) z2=-5,y=4Dr %, ROADEZRDLZI W,
— 3(4x — 5y) + 2(bx + 5y)

5.

8) z=-5y=20t Z, ROKXDEZRDZIW,
= 2(x + 3y) — 4(x — 5y)

‘.

(9) 2=-4,y=5Dr %, ROADEZRDLEZ W,
23X xy + (—5x)

5.

(10) z=4,y=—-4DZ, ROKXDEZRDZ I,
—3(4z — 3y) + (2z + 3y)

¥




